v Ty : SUM-341210, 341211
@""'ﬁ POWER STEERING PUMP BRACKET INSTALLATION GUIDE

RACING EQLIPFPMENT
1 Step #4 -
Hardware Included: 7 .3/8" .16 x3 14" Bolis " '3 m’f":‘” Mount the two bolts to the lower
1-314" Bolt : uls bolt holes next fo harmonic

i 1-3/8" 16 Y4 Stud S
PEVIROES g 3 Washers Domper. ISR\ SR

Installation Instructions:

Step #1-

Mount the lower brackets to the
bottom of the power steering
pump using one 3/8°-16 X 34"
bolt and 3/8 washer.

Step #5 -
Mount the adjustment bracket to water pump using 3/8°-16 X %" bolt
with 3/8 wosher. Using 3/8°-16 X 1 1/4" stud, 3/8" washer and nut on the

Step #2-
On back of the power steering
pump use the mounting stud if it

is equipped power steering pump on the adjustment side.
' For Chevy small block Short water pump mount to water pump using
3/8-16 % 3: 1/4" bolt ond 1" spocer.
Step #3- AW

Mount the twa lower brackets
using 2 V2 spacers and 3/8"-16 X
312" holts




Final Installation Chevy Small Block

s

.-“
g Hukxk
LWP-You can install the brackets in a

different pasition for more adjustment. E

n o

Summit Racing Equipment 800-230-3030
1200 Southeast Ave., Tallmadge, OH 44278 www.summitracing.com




	1a
	1b

